Instruction Manual

PJ-24v100WOI OO

Safety Instructions

. The device is not recommended to be placed on low thermal conductive surface. For
example, plastics.

. For safety reasons, please ensure the mounted device is kept at > 4mm safety distance at
all sides from other components and equipments (Refer to Fig. 2). Please insert an
insulation sheet between the system and product, if the safety distance is < 4mm.

. Note that the enclosure of the device can become very hot depending on the ambient
temperature and load of the power supply. Do not touch the device while it is in operation
or immediately after power is turned OFF. Risk of burning!

. Do not touch the terminals while power is being supplied. Risk of electric shock.

. Prevent any foreign metal, particles or conductors from entering the device through the
openings during installation. It may cause: - Electric shock; Safety Hazard; Fire; Product
failure.

. Warning: The power supply must be mounted by metal screws onto a grounded metal
surface. It is highly recommended that the Earth terminal on the connector be connected
to the grounded metal surface.

For Open Frame type of installation, ensure the power supply’s Protective Earthing
(Marked “PE” in Fig. 1) point is connected to the system’s Protective Earthing (PE). It is

also recommended that the input FG (Fig. 1 location @) be connected to the system’s PE.

Device Descriptions
Refer to Fig. 1.
Input terminal block connector
@ Output terminal block connector
@ Remote ON/OFF function connector (Option)
@ DC voltage adjustment potentiometer

Installation of the Device

Refer to Fig. 1.:
Mounting holes for the Enclosed type of power supply (device). The device shall be
mounted on minimum of 3 mounting holes using M4 screw of minimum 5mm length.
Recommended mounting torque for tightening: 4~8Kgf.cm. For the other mounting
holes without screw threads, please use suitable screw and nut.

Mounting holes for the Open Frame type of power supply (device). The device shall
be mounted on minimum of 4 mounting holes using M3 screw of minimum 5mm
length. Recommended mounting torque for tightening: 4~8Kgf.cm.

This surface belongs to customer’s end system or panel where the device is mounted.

e  Use flexible cable (stranded or solid) of AWG No. 22-18. Please refer to Tab. 1 for the
recommended Housing and Terminal.
e  For the Remote ON/OFF function, use flexible cable (stranded or solid) of AWG No. 28-22.

Tab. 1: Connector (Board Mounting) Housing Terminal
Input (JST B3P5-VH(LF)(SN VHR-5N

nput (JST) (LF)(SN) SVH-21T-P1.1
Output (JST) B8P-VH(LF)(SN) VHR-8N

Remote ON/OFF

Function (Option) B2B-XH-A(LF)(SN) XHP-2 SXH-001T-P0.6

PJ-COV100WCNA: Enclosed (with cover and chassis)

4—M4*0.7

3-94.5 ®
/MOUNTING HOLE MOUNTING HOLE'}

2-94.5 ® 2—M4*0.
MOUNTING HOLE MOUNTING HOLE

4

PJ-O0V100WLNA: L Frame (without cover) PJ-O0V100WBNA: Open Frame

3-94.5 ) 4-M4*0.7
/MOUNTING HOLE MOUNTING HOLE \ #3.5 (MOUNTING HOLE; @ 3-93.5
- PE: MUST CONNECT WITH MOUNTING HOLE)

/ 5 \ - SYSTEM _PROTECTIVE EARTHING

Fig. 1: Device Descriptions

D1 TOP SIDE FRONT SIDE

CN1 \ﬂ 3

PSU cNt PSU

[ INE

____________ If place metal plate on the bottom of PCB, please connect to PE.
D1 D1 = 4mm, D2 = 8mm (For Open Frame type)

Fig. 2: Assembly Reference

www.DeltaPSU.com




CIEREE

BB AE PJ-24vi00wO OO

REME

o APEANE SRS, Bl IR

o AP EIETERE, PR L AUE AP GRS Amm BEE R DU 2 2 A
(ESHET) . UIEBLEAE] dmm i, 5T REG AP 2 M NBLL% )5 .

o SEINSEIRBE LTk ORI, AN R SR, IR E R s R s
o [A) A AR AL, DL G0

o TEZIME LA R T, AR fE R

o BRI, LG G R OISR S I S B EOE K AL B A, B
AT FPRL .
—id ; BAREE ;KK PR

o AR, IEGENES 2 BRIT AL AN SRR 2 B T[] R T, [ S TR AU
JEM B AR e R . R U NS TR U
EEXPBRAR AL A i, 22, FRGEN 8% 2 RS (R e PEY) Al RGEHI
P T IR . PRI T (B EQ) I R IR

SRR
AL —
@ WAL T
@ fnEgET
(® Remote ON/OFF function #i7- (Option)
@  HE R AL

FEmE AR
AP —

@ MRS, RS A RN, BRI L. P R
KIEEA 5mm 1) M4 BR8N D AR L. H DU B E R L
4~8Kgf.cm - EHXHFFALAE I B e £L, 1 PE LA FE e ] A 7 o
BERSARL 20 i, PR i R ] R R, RERZ BN L AL
NEAZFH A EE /> Smm (1] M3 82 2285\ Z /0 PUAN [ 52 AL o E UL ] MR 22 4T
4 4~8Kgf.cm -

EALVEE IS E IR E I

o HZMBI A AWG No. 22-18. #1ffi f 2 Housing and Terminal (E#%—).
e Remote ON/OFF function B2 (¥ & 117 {# H AWG No. 28-22.

& LOER

o AHBEMAMZEN B 7 AFy 7)) CRETEIEGBIFTTE L,

o ABESRIUATU B . B O KT, WA TOME T, MhoHHCEE» 503 4mm BLE
DA HERL TFSw (8 2 2 o L7z, 4mm LA EO LR MR T & 20
Bt M e B U 2 BB OB — P ERATTE O,

o HEKBOEMEMS & FMELZCTIHO AR & > THRSEFCRC L2 L2
DEFTOTHERBRL T IS, EROMEETP AT —%4 7 L LHBGES s 20T
Taw, [RUE] OBRIEHY £7.

o HEMEEHEE. 2—3Fvifs s T RS, [KE] OB/ H Y £ T

o HEEBEITY ZHIC . SR RREADRY SEBOM DHASAVAE LD EICLT
F&w, LR, EE, 20, KfivBoumeslsiRcy o endn &4,

o R M AU 2K, SROAVEMAL. 7oA SAEERICHRMT T FE L,
X R—DT =R TE T —ASNERBICLTEGT 2 e8I L £ T
HRHA—7 > 7L — L&A 7OFEFE# AT 23560, M1 T PE &Lsis n B
D7 =A% BAIEBRMO 7 —A(PE) € LFHEHL TR0, 2. 10 D OA
Jifll FG #3BMO7 —A et 2L b BEDL £ 7.

ERBEO LWL
X158
@D Ah#F7Taysars x—
Q@ WwhiTrayrazrsa—
@ vE—rAYATMIRIR— (AT v a>)
@ DCEEHY < 3

BV DA T

= AN &SRR EI (B8 OB R T T . B M4 O 4 2L, BT
5mm ORE LT 3 47 I EOREFEEL TRS 0, HREN B4 b2
4~8Kgf.cm T4 . ZOfhA Y OMOIFTT NG, Thied oAy eFy FTED
-

AT T L= AR A T HERMER B OBATRTT. HEE M3 DrvE
MHL . BIE5mmOES £ T4 » il EOREEEL TR, RS h 244
Mv 271 4~8Kgf.cm T4,

O, WEREMD T2 ERBOREL LG ARV ERLTOET,

e AWGNO.22-18 D7 L F v 7 Nsr =71 (R hF¥Fy K&V )y NRA7) #I1#
HTFsw, RN 7 L Fid FTRiR 1 22T s 0,

. YE—bAYATZ7HIZE. AWGN0.28-22 D7 L ¥+ 7 vy —7 ) (ALF>7T vy K&l
EY )y F&A7) #THHTE 0.

EE—: N (R L) Jie5% T
N (JST B3P5-VH(LF)(SN VHR-5N
— UST) (LF)(SN) SVH-21T-P1.1
ifitlt (JST) B8P-VH(LF)(SN) VHR-8N

TR GA0) B2B-XH-A(LF)(SN) XHP-2 SXH-001T-P0.6

®1 IX0 8= R—FER | BRA7IVS e
AJ1 (4ST) B3P5-VH(LF)(SN) VHR-5N
77 (JST) B8P-VH(LF)(SN) VHR-8N SVH-21T-P1.1

Yyx— AV F 7

B A7y ay) B2B-XH-A(LF)(SN) XHP-2

SXH-001T-P0.6

www.DeltaPSU.com



